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CEEEERN
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OAHIIE A (15 1,072,573 0 1,072,573
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dF 2,077,600&*10F 122 249,312 124,656 124,656
- HANYTSE (8T B5E)
d& 3,508,003 *x2Z 12 84,214 42 107 42,107
-IEg 35,640 17,820 17,820
HH < Kt Z & 40,0002 +20H 123 9,600 4,800 4,800
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HH < Xt Z & 40,0002 +108~ 123 4,800 2,400 2,400
PO VPN E| Z& 30,0002 «7E~ 123 2,520 1,260 1,260
= IPNTE| Z& 70,0003 +7E 12 5,880 2,940 2,940
- A XHA Ol &t
Z&E 110,000&x1H 123 1,320 660 660
- JIEt Z2E 20,0002 4«12 960 480 480
o CER=TONEIN V)
ZE 200,0003 x5+ 128 60,000 30,000 30,000
-ZAgald| ZE 140,000& x5« 128 42,000 21,000 21,000
-2 AMHI(152) 11,000 0 11,000
A2t 2R Z& 25,838,000 25,838 12,919 12,919
OaR=5 394,885 213,779 181,106
-JlZ2s 326,713 163,357 163,356
22092 158)
Z2& 1,815,070 15123 326,713 163,357 163,356
A2t 2R 35,500 17,750 17,750
- HAHE
ZE 9,8613*15F*10AI 2t 122 17,750 8,875 8,875
ARE
ZE 9,8613*15F+10A12H+ 12 17,750 8,875 8,875
OXAZEXHI 112,200 56,100 56,100
-HEAGE(BR)
Z&E 185,000 18~ 123 2,220 1,110 1,110
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